
Victoria Settee
Assembly Instructions

Hardware


1-1/4" flat washer (H1)

5/16" nut (H2)

Assembly

�� Join the seat and the back of the settee together, making sure they are aligned.�
�� Place one 1-1/4" flat washer (H1) on the stud, then top with a 5/16" nut (H2) and tighten�
�� Prepare the legs. Remove the plastic caps and use a 1-1/4" flatwasher (H1) to attach the 

legs to the settee�
�� Place the settee on a flat surface. If the settee is not level, add an additional 1 ¼” 

flatwasher (H1) after unscrewing the shortest leg.



Note: You may have extra H1 washers left over, depending on how many you used to level 
the settee.


